S

Edited by Foxit PDF Editor
Copyright {c) by Foxit Software Company, 2003 - 2009

For Evaluation Only.
METT EDO

B

o g EE

* ZEEES

o KHBFRE MU

* fiREEW, REIER

o IEHTREAFE. BIRIFREES. Y
ERIY B ELE

HRiEHR:

EEFE TSC 50,100,200,300,500,1000
FERRE TSB t 2,3,5

REE mv/\V 2+ 0.002
TESH %R.C. <0.01

il =1 %R.C. <0.02

|53 %R.C. <0.02

=T (30 54h) %R.C. <0.02
T %R.C. <1
BEAMEEE °C -10~+40
TEBESEE C -20~+65
RYPFRERY %R.C./ °C <0.002
THRERY %R.C./ °C <0.002
PR Q 381 +4

o] 2R Q 350 + 1
G MQ > 5000(50V DC)
EIHREBE V(DC/AC) 5~15
BXHMARE V(DC/AC) 20

RETH %R.C. 150

R %R.C. 300

Bitr &R IP65(TSC), IP67(TSB)
B E m 5

1) FRHEFEARSE, &5 IEEEHN150T.


WWW.OCTSOURCES.COM

Edited by Foxit PDF Editor
Copyright {c) by Foxit Software Company, 2003 - 2009
For Evaluation Only.

METTLER TOLEDO
2-T
)
ok ) £
\EJ
i —
| 0
W L
TSB 2,3,5 R R EREM ZP 2,3,5
REkg) L(mm) | H(mm) | W(mm) | T(mm) R () R~f(mm)
2000 70 86 45 |M16x1.5 N A M
3000 80 100 50 |M18x1.5 2 248266 | M14
5000 92 130 58 M20x2 3 268-290 | M18
5 314-334 | M20
2-T
]

L
r

W 50.8
TSC 50~1000 FN R EREEY ZP 50~1000
- R~r(mm o sT(mm
R | R (k) L RA -
50,100,200 18.5 M10x1 50,100,200,300| 322-367 205-227 14 18
300 24 .4 M10x1 500 298-317 219-235 14 0
500 24 .4 M12x1 1000 298-317 219-235 14 0
1000 36 M12x1
HYEE BER(7DE)
% R +
= -
L i+
1 Rl -
S| 55+
i as-
#(%) R

TSC te Rz S HHATUE R fHEA.


WWW.OCTSOURCES.COM

